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Day |

Add:

426 +31.31

Divide:

Wi

What is the volume of this figure if each
individual cube is equal to 1 cubic inch?

What is the value of
the underlined digit?

6,438.96

Add. Show answer in
simplest form.

2.4 3=
3+4“

Solve:
404
x_ 27

Select all the expressions that have a value of 24.

Middle School
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Ada:
42,6 +31.31

73.91

What is the volume of this figure if each
individual cube is equal to 1 cubic inch?

Divide:

2+

(#%] O

6

36 cuin

What is the value of
the underlined digit?

6,438.96

6 hundredths

Add. Show answer in | Solve:

simplest form. 404

x 27

= o 3 = 1512 10,908
3 4 ;

Select all the expressions that have a value of 24.

ZW/L -

Middle School
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Multiply: . . . ,
What is the missing number in the following
ion?
5 9 2 _ equation?
8 37
14 -1
5 3 15
What is 5.417
rounded to the
nearest hundredth?
Point F is 8 units away Subtract: Which type of
from the origin on the paralielogram could have
X-axis. What could be the four equal-length sides?
coordinates of paint Z? 61.26 - 28.3 A. Trapezoid
B. Rhombus
A, . (8, R —
Ase 6.0 ¢ Reciangi
e gl D. Pentagon -':_—‘

Select all the expressions that show 8.204 written in expanded form.

Middle School
||(8x1}+(2x7‘l-])+[4x:-|-|%l-_) I E E DD

[] (8% 1)+ (204 X =k )

1000

[ (82x <)+ (4% ob=)

10

[] (82X &)+ (4% =)

10 100




from Summer Slide to QMHWER wlf\}'é—— Day 2

from the origin on the
x-axis. What could be the
coordinates of point Z?

A.(0.8) B0 ]

C.(8,8) D.(8,6)

Multiply:
What is the missing number in the following
5 2 _ tozdar eguation?
8 X 3 = 52
1 B i 13
5 3 15
What is 5.417
rounded to the
nearest hundredth?
542
Point F is 8 units away Subtract: Which type of

parallelogram could have
four equal-length sides?
61.26 — 28.3 A. Trapezoid
B.Rhombus |
3296 C. Rectangle
D. Pentagon

[l@x1)+@x-

10

[l Bx1)+(2x-+

]
[*] (8 x 1)+ (204 x
0

0

Select all the expressions that show 8.204 written in expanded form.

)+ (4 x55)
)+ (4% mg)

1
1000 )

[x] B2x L)+ (4x )

1000

[J(82x L)y+(@x =)

100

Middle School
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What is “four hundred

thirty and sixty-five What is the area, in square units, of the
hundredths” in decimal | rectangle?
form?

2

£ foot
What is the value of

the expression?

%tam
6)576
3 What is the value of each Ive:
Add . of melfcIIOW\ilrngL'." S
2 10° = s
D + 2= x 03
8 " 3 i
10 =
Find the volume of the prism below. M " d d ] 5 h |
: 4em
4 £ 3em

fem




from Summer Stide to GLIM E’R WING- Day 3

What is “four hundred

thirty and sixty-five What is the area, in square units, of the
hundredths” in decimal |rectangle?
form?
43065
= foot
What is the value of

the expression?

£ toot
96 14/40 sq ftor 7/20 sq ft
6) 576
Add. What is the value of each | Splye:

of the following?

3.62
324 0r [102=_100
1

. 5,24 - x 03
s
10t=_10

Find the volume of the prism below.
Middle School

dem

4 .3c:m

72 cucm
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Day 4

Add. Show answer in
simplest form.

the coordinate

11 +23= plane.
s AC L)
Divide: B{ & )
8)61.22 s
o)

Identify the ordered pair for each point on

o SNBAAINRGD
<

X
12345678910

What is 14.78 x 10*?

What is 48.193
rounded to the
nearest tenth?

When multiplying a number by
107, how is the decimal point
moved?

A3 places to the right

B. 3 places to the left

C. 4 places to the right

D. 4 places to the left

The line plot below shows how many hours each student on the soccer team

spent at practice this week.

x
A

(Hours Spent at Practice)

How much total time did the 3 players who spent the most time at practice

spend at practice combi

ned?
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Add. Show answer in ) . )
simplest form, Identify the ordered pair for each point on
the coordinate
ll + 2§ — plane. o
2 - 8 A( 5,1 ) :
3718 8
Divide: B{ .8} g
4
769 "
ol . P 3
8)6L22 ¢ ) 2
DLE 4] 0 | 2545678610
What is 14.78 x 10'? |What is 48.193 When multiplying & number by
rounded to the 10° .r:;w is the decimal point
move;
147.8 nearest tenth?
B. 3 places to the left
482 C. 4 places to the right
Ras D. 4 places to the left

The line plot below shows how many hours each student on the soccer team
spent at practice this week.

x
X %
X x X X
X X x ] X
o+ ‘ f F—
0 1 2
(Hours Spent at Practice)

How much total time did the 3 players who spent the most time at practice
spend at practice combined? 4o




from Summer Stide to GIM E’R WINE- Day 5

Circle the expression
that has the greater
value:

6x0.7 06x0.7

Add:

426 +31.31+9.05

Jennifer has 16 pounds of candy. She
wants to put the candy into bags so that
each bag has % pound of candy. How many
bags of candy can Jennifer make?

What is the value of the
missing exponent in
the expression:

6.975x 10 =697.5

What is 1.408 x 10%?

Subtract:

2

w1l
|

@I~
1

Select all the expressions that have a value less than 750.

[J 750x2
O 750 % 3

[] 750x 4

[] 750 x4
[ 750x 13

T 750x %

P ==

Middle School



from Summer Slide to gf_J_M E’E_ WING- Day 5

Circle the expression .
that has the greater |Jennifer has 16 pounds of candy. She

value: wants to put the candy into bags so that
each bag has ¥4 pound of candy. How many

0.6 x 0.7 |bags of candy can Jennifer make?

Add:

42.6 +31.31+9.05

8296

What is the value of the | What is 1.408 x 10°7 | Subtract:
missing exponent in
the expression:

1.408 2

Ul
|
[==3 B

6.975 x 10? = 697.5

r
B
=1

Select all the expressions that have a value less than 750.

Tl 7502 X 750 x4

ol 750 x 2 01 750x13 : -—:_-._:_-;J'
Middle School




from Summer Slide 10 G/ J'M E’R wt L-t:" Day 6

An expression is shown.
19+4-3x3-12

Create an equivalent
expression thatincludes a set
of parentheses so that the value
of the expression is 10

starts at 3.

at 19.

Add. Show answer in
simplest form.

5 9
2 faid
18 10

Erica and Aileen are creating patterns.
e Erica uses the rule “multiply by 3" and

o Aileen uses the rule “add 4" and starts

What is the first number in Erica’s pattern
that also appears in Aileen’s pattern?

Write an expression to
match the following
phrase:

Multiply the sum of 8
and 4 by 2,

What is 364.7 = 10°?

Solve:

28.8 - 13.95

Which statements about the values 0.526 and 52.6 are true?

0.526 is 77

| 0.526is 10 times 52.6

| 0.526 is 100 times 52.6
| 52.61is 10 times 0.526

| 52.6is 100 times 0.526
| 0.526 is-ilg of 52.6

J

of 52.6

Middle School



from Summer Stide to SUMMER. “WIN G- Day 6

An expression is shown.
19+4-3x3-12

Create an equivalent
expression that includes a set
of parentheses so that the value
of the expression is 10,

starts at 3.

at 19.

Add. Show answer in
simplest form.
5 9
2 i
1 8 10
221/40

27

Erica and Aileen are creating patterns.
e Erica uses the rule “multiply by 3" and

e Aileen uses the rule “add 4" and starts

What is the first number in Erica’s pattern
that also appears in Aileen's pattern?

Write an expression to
match the following
phrase:

Muitiply the sum of 8

and 4 by 2,

(B+4)x22

What is 364.7 + 10°?

0.03647

Solve:
28.8 - 13.95

14.85

Which statements about the values 0.526 and 52.6 are true?

O
|
(|
[x]
(]
(x]

0.526 is 10 times 52.6
0.526 is 100 times 52.6
52.6 is 10 times 0.526
52.6 is 100 times 0.526
0.526 is fﬁ of 52.6

x| 0.526 is 1i; of 52.6

Middle School



from Summer Stide toGLIM E‘R WINE- Day 7

Which measurement is

used to determine the What is the volume of this rectangular
amount a box will hold? :
prism?

A_Area B. Perimeter

C.Length D.Volume -

Subtract: i
51-21= i
3 2 10in =i
What is “thirty-eight | Multiply: Divide:
and seventy-five 3807

thousandths” in
decimal form?

x 12 25)120

5.0A.23
Marisa and Viviana are creating patterns.
* Marisa uses the rule “multiply by 2, then add 1"
» Viviana uses the rule “multiply by 3, then subtract 2,
Each pattern starts at 1.

Complete each table to show the next 3 terms in each pattern.

Marisa’s Pattem Viviana's Panem
Term Number Term Humbes
1 1 1 1

j j Middle School




from Summer Stide to SUMMER “WINE- Day 7
Which measurement is
used to determine the ) What is the volume of this rectangular
amount a box will hold prism?
A. Area B. Perimeter
Subtract: 4in
53 -25= 3i
3 2 10in n
256 120 cuin

What is “thirty-eight | Multiply: Divide:
and seventy-five 3.807 48
thousandths” in Y 12 257120
decimal form? —

38.075

Marisa and Viviana are creating patterns.
e Marisa uses the rule “multiply by 2, then add 1"
e Viviana uses the rule "multiply by 3, then subtract 2,

Each pattern starts at 1.

Complete each table to show the next 3 terms in each pattern.

Marisa’s Patem

Viviana's Patiem

Term Number Term Number
1 1 1 1
2 3 2 1
3 I 3 i
a 15 4 |

5.0A.23




from Summer Slide to g‘!H E’R UJI J v’ Day 8

Circle the true
statement:
46.8 < 46.08
35.30 > 35.3
17.2>17.19

Find the value:
91.2x0.04

5.NBT.1.4
Select all the numbers that round to
286.4 when rounded to the nearest

tenth.

[] 286.35
286.54
286.371
286.486
286.42
286.31

A shipping box has a
width of 6 inches, a

length of 10 inches, and

a height of 7 inches.
What is the volume of
the shipping box?

Find the value of the Add:
expression:

2 ]
% x(7+5x5)—10 3e+lg=

Circle each prism that has a volume of 30 or more cubic units.

=

o © BT

P ==

Middle School



from Summer Slide to GL:H E’R WING-

Day 8

Circle the true
statement:
46.8 < 46.08
35.30>35.3

17.2>17.19

Find the value:
91.2x0.04

3548

5.NBT.1.4

Select all the numbers that round to
286.4 when rounded to the nearest

[x] 286.35
[] 286.54
| 286.371
| 286.486
| 286.42
| 286.31

A shipping box has a
width of 6 inches, a
length of 10 inches, and
a height of 7 inches.

What is the volume of

the shipping box? 45g ¢y il

Find the value of the
expression:

%X (7T+5x5)—10

6

Add:

2 1-_
32+1l=

413720

Circle each prism that has a volume of 30 or more cubic units.

=\

mall EEREE
0 S T

P ==

Middle School
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_ Day 9

Divide:

0.4)38.24

Amy needs 32 yards of
fabric for a school
project. How many feet
of fabric does she
need?

5.G.1.1

Use the map to answer the following questions.

Alex started athome. He went 3
blocks up. Then he went 4
blocks to the leftand 1 up. Then
he went 3 blocks to the right and
1up. Putthe place names in
order from where he visited first
o where he visited last

A library, home, park, school
B. home, school, library, park
C. home, school, park, library
D. home, library, park, school

What is the value of
the expression?

100+12+4-6

What is 307.5 x 10%?

Add. Show answer in
simplest form.

5 3
S 493=
s 2%

5.MD.2.2

The line plot below shows how many hours each student on the soccer team

spent at practice this week.

=
® % o= ox
=

1

(Hours Spent at Practica)

How many players practiced this week?

How many players practiced at least 1 hour?




from Summer Slide mg,{M E?_ WIN

Day 9

Divide:

0.4)38.24

Amy needs 32 yards of
fabric for a school
project. How many feet
of fabric does she
need?

96 feet

5.G6.11

Use the map to answer the following questions.

Alex siaried at home. He went3
blacks up. Then he went 4
blecks to the leftand 1 up. Then
he went 3 blocks to the right and
1 up. Putthe place namesin
order from where he visited first
to where e visited last

A. library, home, park, school
B. home, schoaol, library, park
School, park, Tbrary
—hiome, library, park, schoo

¥

1

0!
2
8.
T
6.
3
4.
3.
2.
1
0

x
12345678810

What is the value of
the expression?

100+12+4-6
97

What is 307.5 x 10*?

30,750

Add. Show answer in
simplest form.

5 -
O o in)as—
6 24

31424 or 3712

spent at practice this week.

The line plot below shows how many hours each student on the soccer team

=
x x % x

(Hours Spent at Practice)

How many players practiced this week? 12

How many players practiced at least 1 hour? 7

5.MD.2.2

Middle School



fromSummerSlidetog.‘,J:M E"E_ WINEG- Day 10

Which expression is
equivalentto 3?2

A B+5

B.8x5

C.5:8

D:6x8

Lisa has a board thatis & feet
long. She needs to cutthe
board into 16 equal-length
pieces. How many feetlong
should each piece of the board
be?

Which statement describes the expression
20+¥%x(4+6)?

A. Half of 4 added to six, plus 20.

B. The sum of 4 and & plus half of 20.

C. Half the sum of 4 and 6 added to 20.

D. The sum of 4 and 6 plus 20 divided
by 2.

Complete the equivalent
fraction:

3
57 25

What is the value of | Multiply:
the expression?
2,604
(20+4)-18+2 x 8

A numerical expression is evaluated as shown.
%% (8+10+5)+8
Stepl: ¥%x(8+2)+8
Step2: ¥%x10+8

Step 3: ¥%2x 18

Step 4: 9

In which step does a mistake first appear?

A.Step 1
B. Step 2
C.Step 3
D. Step 4

Middle School



from Summer Slide tog‘,EM E‘R WINEG- Day 10

Which expression is
equivalentto 37
A.B=+5
B.8x5

D.5x8

Which statement describes the expression
20+ %X (4+6)?

A. Half of 4 added to six, plus 20.
B. The sum of 4 and 6 plus half of 20.

Lisa has a board that s 8 feet
long. She needs fo cut the
board into 16 egual-length
pieces. How many feetlong
should each piece of the board
be?

112 foat

C. Half the sum of 4 and 6 added to 20. ]
D. The sum of 4 and 6 plus 20 divided
by 2.

Complete the equivalent
fraction:

o1

3=
5

N
2]

What is the value of | Multiply:
the expression?
2,604
(20+4)-18+2 x 8

15

20,832

A numerical expression is evaluated as shown.
%% (8+10+5)+8
Stepl: ¥%x(8+2)+8
Step2: ¥%x10+8
Step 3: % x 18
Step 4: 9

In which step does a mistake first appear?
A Step 1

B.Step 2

D. Step 4

Middle School



from Summer Slide tog",{M" 512, WINEG- Day Il

What is the least common
multiple of 3 and 47 In
other words, what is the
smallest number that is
divisible by both 3 and 42

The table shows the

total amount of money

Mary has saved for 5 consecutive weeks.

Write an equation

that can be used

to determine her

savings after any

Solve:

480.22 - 185.25

number of weeks.

Week (w) | Amount Saved (s)
1 10
2 0
3 an
L] 40
] 50

Equation:

Divide:

9) 4,302

What s the greatest common
factor of 15and 207 In other
words, what is the largest
number that divides evenly into
both 15 and 202

What is 376.2 x & ?

Which expression is equivalentto 8 + 20 ?

A. A4 +20)
B.4(2 +5)

C.2(2 +10)
D. 2(6 + 18)

HOW TO SOLVE: Placing a number outside the parentheses with no
operation indicated implies multiplication. For clarification, let’s look at
option A. 4(4 + 20) is the same thing as 4 x (4 + 20). Using the
distributive rule, we know that 4 x (4 + 20) is the same as (4 x 4) + (4 x
20). If we do the math, (4 x 4) + (4 x 20) is equal to 16 + 80, not 8 + 20,
so option A will not be a correct answer. What about the other options?

Middle School
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What is the least common
multiple of 3 and 4?7 In
other words, what is the
smallest number that is
divisible by both 3 and 47

12

Solve:

480.22 -185.25

The table shows the total amount of money
Mary has saved for 5 consecutive weeks.

Write an equation

that can be used | Week (w)| Amount Saved (5

10

to determine her

20

savings after any

30

number of weeks.

40

@[ awlr|m

50

9) 4,302

number that divides evenly into
both 15 and 20?

5

29497 Equation: _ s=wx10
wicle: What is the greatest comman H Lo
Divide: factor of 15 and 207 In other What is 376.2 x 1o~
478 words, what is the largest

3762

A 44 +20)

Which expression is equivalentto 8 + 20 7

HOW TO SOLVE: Placing a number outside the parentheses with no
operation indicated implies multiplication. For clarification, let's look at
option A. 4(4 + 20) is the same thing as 4 x (4 + 20). Using the
distributive rule, we know that 4 x (4 + 20) is the same as (4 x 4) + (4 x
20). If we do the math, (4 x 4) + (4 x 20) is equal to 16 + 80, not 8 + 20,
so option A will not be a correct answer. What about the other options?

Middle School
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Day 12

An expression is shown.
24189+72

What is the value of the
expression?

Write an expression to
match the words:

Double the difference of

eight and six, then add
12,

A variable is a letter used in an equation o
represent a number. For example, 8 x n =32.
“n" represents a number that would make the
sentence frue. In this case, n must equal 4 in
order to make this a true statement.

What does the variable p represent in the

equation helow?

6xp=54

p=

Which expression is

equivalentto 12 + 28 7
A.4(3 +28)
B.3(4+9)
C.4B+7)
D.3(4+7)

Write the rule for this
pattern:

1,2 48,16, 32

What is the least common
multiple of 6 and 97

A negative numberis a number that is less than zero, and is represented by
placing a “minus” sign in front of it. Hwe
were to draw a number line, all numbers to

the left of zero would be negative, while all

<<

numbers to the right of zero would be

positive.

Negative Numbers

According to the information above, which
of the following represents a negative

number?

6
[}
4
1

o0 @

L 5
0
T Posive Numbers

Orlgin
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An expression is shown.
24189+72

What is the value of the
expression?

24261

Write an expression to
match the words:

Doubie the difference of
eight and six, then add
12.

2x(8-6)+12

A variable is a letter used in an equation to
represent a number. For example, 8 x n = 32.
“n" represents a number that would make the
sentence true. In this case, n must equal 4 in
order to make this a true statement.

What does the variable p represent in the

equation below?

Gxp=54
p= 9

Which expression is
equivalentto 12 + 28 ?
A.4(3 +28)
B.34 +9)

D 3@ +7)

Write the rule for this
pattern:

1,2 4,8 16, 32

multiply by 2

What is the least common
multiple of 6 and 92

18

A negative number is a number that is less than zero, and is represented by
placing a “minus” sign in front of it. If we
were to draw a number line, all numbers to

the left of zero would be negative, while all
numbers to the right of zero would be

positive.

According to the information above, which
of the following represents a negative

number?

A B
B. 0

554321012 34567
-:(—T—};—

Negative Numbers

Positive Numbers
Orlgin

Middle School



from Summer Slide to GJH \ E‘R WING- Day I3

What is the value of |Theareaofa lrifamhglebcan Ee;t:und by mult\plyingf:ple

foe measurement of the base by the measurement of the
the S E—"t height, and then multiplying that product by ¥2. In
other words

5+7x5-36+9 A=Yaxhxh

Using this formula, find the area of the triangle below.

Find the value of the

variable c.
aem
72+c=9
o= acm
What is the least common | Solve: What is the greatest

multiple of 12 and 9? common factor of 24 and

601.7 - 250.16 567

Select all the expressions that have a value more than 1,850.
[] 1850 x4 [11850x13
[ 1,850 % 4 [ 1,850x %

[] 1850x5 ] 1850x %
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Day 13

What is the value of
the expression?

5+7x5-36+9

36

Find the value of the
variable c.

The area of a triangle can be found by multiplying the
measurement of the base by the measurement of the
height, and then multiplying that product by %. In

other words:

A=VYaxbxh

Using this formula, find the area of the triangle below.

6sqcm

What is the least common
multiple of 12 and 9?

36

Solve:

6017 -250.16

35154

What is the greatest
common factor of 24 and
567

Select all the expressions that have a value more than 1,850.

[ 1,850 x 4
I 1
[ 1,850

[ 1,850x5

el 1
] 1,850 x 13

[] 1.850 %

[x] 1.850 x

i

ok




from Summer Slide tog;‘,M E’P_ WINEG- Day 14

Complete the equivalent | Pedro saves the same amount of money
fraction:
racton each week. The table shows the amount of
6 _ 18 money Pedro has saved for several weeks.
== Complete the table to show the Pedro's
weekly savings.
Week A"Egunt
An expression is shown. 5 o
1890051 + 3296
2 14
What is the value of the 3
expression?
5 35
Divide: Find the value of the Write an expression to
variable r. match the following
phrase:
12 ) 682.8 12025220 add 14 to the quotient
_ of 42 and 6, then
= double the result

A negative number is a number that is less than zero, and is represented by
placing a “minus” sign in front of it. If we

were to draw a number line, all numbers to
the left of zero would be negative, while all

. Chutns i 654324012 34567
numbers to the right of zero wou e
positive. <%

Negative Numbers | Posiiive Numbers
Additionally, the further a number is to the Orlgin

right, the greater its value. Likewise, the
further a number is to the lefi, the lower its value.

Identify the true statement below:

A -2<-4 B.-2>3 C.-5<-4 D 7=-2




Day 14

from Summer Stide 10 SN (BRI

Complete the equivalent | Pedro saves the same amount of money

fracti
S each week. The table shows the amount of
6 _ 18 money Pedro has saved for several weeks.
T Complete the table to show the Pedro's
weekly savings.
Week Amount
An expression is shown. o :)
1,890.051 +32.96
) 2 14
What is the value of the 3 BT
expression?
5 35
1923011
Divide: Find the value of the Write an expression to
569 variable r. match the following
- phrase:
12) 6828 120 #7540 add 14 to the quotient
_ of 42 and 6, then
B e double the result
[+ @42/6)x2

A negative number is a number that is less than zero, and is represented by
placing a “minus” sign in front of it. If we
were to draw a number line, all numbers to

'

the Iiﬂ U!;e{:: WFIL:? bfe negauvstév':hﬂs all L L 5 1 [" : 2' ; A ," L

numbers e right of zero would be

positive. < >
Negative Numbers | Positive Numbers

Additionally, the further a number is to the Qrigin
right, the greater its value. Likewise, the
further a number is to the left, the lower its value

Identify the true statement below:

A 2<-4 B . -2>3 D.7<-2

Middle School
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What is the least common
multiple of 6 and 87

What is the greatest
common factor of 18 and
367

Find the area of the

triangle below.

Remember, use the formula A =% x b x h.

18in

Find the value of the
variable d_

42 x d =84

d=

Which two expressions
are equivalentto 9 + 27 ?
A 3(3+9)
B.3(3+27)
C.9(1+27)
D.9(1+3)

Divide:

151

Which of the following expressions represents a negative

number?

o0Om P

. The temperature in Miami is 98 degrees today.

. The temperature in Sitka is -35 degrees today.

. The temperature in Houston is 104 degrees today.
. The temperature in Alberta is 15 degrees today.

P ==

Middle School
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What is the least commo
multiple of 6 and 82

24

What is the greatest
common factor of 18 and
362

18in

270sqin

30in

n | Find the area of the triangle below.
Remember, use the formula A= % x b x h.

Find the value of the
variable d_

42 xd =84

d= 2

Which two expressions

are equivalentto 9 + 27 ?
B.3(3 + 27)
C.9(1 +27)

D.9(1+3

Divide:

il

60

1

4

Which of the following expressions represents a negative

number?

. The temperature in Miami is 98 degrees today.

. The temperature in Sitka is -35 degrees today. \

O 0mr

. The temperature in Houston is 104 degrees today.
. The temperature in Alberta is 15 degrees today.

P ==

Middle School
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What is 42.751 Find the area (length times width).

rounded to the
nearest whole

9cm

number?

4 cm

What is the value of

the expression?

O9x6-5x3+2

Area =

Solve: Divide:

92481 -634.28

When we multiply a number
by a variable, we do not need
to show the multiplication
sign. "6 x n"is the same as.
“6n" What is the value of n
below?

6n =48

Negative numbers can he plotted on a graph, too. The ordered pair still

consists of an x-coordinate (horizontal
value) and a y-coordinate (vertical
value). See if you can plot the
following points on the grid. An
example has been shown.

A(5.2)
B(3.-3)
C (-2, -4)
D(L2)

Middle School
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What is 42.751 Find the area (length times width).
rounded to the
nearest whole 9cm
number?

43 4 cm
What is the value of
the expression?

Area = 35sqom
9Xx6-5x3+2

41

Solve Divide: When we multiply a number
by a variable, we do not need
924 81 - 63428 2142 to show the multiplication

4) 8568

290.53

sign. "6 x n"is the same as
“6n”. What is the value of n
below?

6n=48 p=3

Negative numbers can be plotted on a graph, too. The ordered pair still

consists of an x-coordinate (horizontal
value) and a y-coordinate (vertical

value). See if you can plot the T

following points on the grid. An
example has been shown C .

A(-5,2)

B(3,-3)

C (-2, -4)
D(L 2)

AP

Middle School
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L Day I7

Subtract: Paula saves the same amount of meney each
week. The table shows the amount of money
41 . 11 = Paula has saved for several weeks. Complete
10 8 the table to show the Paula’s weekly savings.
Amount
Week
An equation is shown (s)
+8=23 2 10
Which of the values can be 3 1 5
substituted for x to make the
eguation true? 6
AB B9 10 50
€14 D.15
What is 682.908 Multiply: Gary has 8 yards of
rounded to the fabric. He uses 108
nearest tenth? 4.248 inches of it to make a
- ' 42 costumes. How many
— feet of fabric does he
have left?
A table of equivalent ratios is shown.
Ratios ¥
20 2 10
40| 4 ol
60| 6 :
80| 8 5
Plot these points on the grid to the 5
right. 4
st
2
1
0 x

010 20 30 40 50 60 70 89 90 100
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Day I7

Subtract: Paula saves the same amount of money each
week. The table shows the amount of money
41 -1 L= Paula has saved for several weeks. Complete
10 8 the table to show the Paula’s weekly savings.
32180 or 3 1/40
Week Amount
An equation is shown. [s)
¢ +8=23 2 10
Which of the values can be 9 15
substituted for r to make the
equation true? 6 30
A6 B9 10 50
What is 682.908 Multiply: Gary has 8 yards of
rounded to the fabric. He uses 108
nearest tenth? 4,248 inches of it to make a
% ' 42 costumes. How many
5829 o feet of fabric does he
128,445 have left? 55
A table of equivalent ratios is shown.
Ratios y
0] 2 m
40 | 4 »
60 6 ! *
80| 8 : 2!
Plot these points on the grid to the ]
right. 4 [ ]
3
&
1
0 x

T
D 10 20 30 40 50 60 70 80 50 100

23/3?&5@7&, =

Middle School
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What is 1,892 x o5 ?

What is the least common
multiple of 15 and 10?7

Find the area of each rectangle, then find the area of

the entire combined shape.

6 ft

5f

Rectangle A
Rectangle B:
Composite Figure:

Complete the equivalent
fraction:

12

J:nIM
wlo

What is the greatest
common factor of 48 and
52?7

An equation is shown
19-y=12
Which of the values can be
substituted for « to make the
equation frue?
A3 B5

c.7 D.9

Percentages are simply numbers expressed as a quantity out of a
total of 100. For example, 50% means 50 out 100. 25% means 25

out of 100.

For each of the percentages below, indicate how many out of 100.

1. 45%=__  outof100
2. 83%=__  outof100
3. 92%=__  outofl100
4. 11%=___  outof 100




Answer Key

fromSummerSlidetogJH 5'2_ WING-

Day I8

Lo

What is 1,892 X 55

18.92

the entire combined shape.

Find the area of each rectangle, then find the area of

G fi

What is the least common
multiple of 15 and 10?7

30

Rectangle B:
Composite Figure:

Rectangle A: _ 15

21 cu units

Complete the equivalent
fraction:

5

12

0

48

What is the greatest
common factor of 48 and
527

An equation is shown
19-r=12

Which of the values can be

substituted for « to make the

equation true?

BS5

D.9

A3

Percentages are simply numbers expressed as a quantity out of a
total of 100. For example, 50% means 50 out 100. 25% means 25

out of 100.

For each of the percentages below, indicate how many out of 100.

1. 45%=_45 ou
2.83%=_5 ou
3.92%=_9 ou
4. 11%=_ 11

t of 100
t of 100
t of 100

out of 100
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Divide: Find the area of the triangle helow.
Remember, use the formula A=% x b x h.

+6

win

13

Which expression is
equivalentto 14 +35 2 -1 2
A 2(7 +35)
B.7(2+5)
C.2(7+17)
D.7(2 +35)

An Buuana:r; is shown An expression is shown. | Divide:
sx=

Which of the values can be 846.382 +487
substituted for v to make the

equation true? What is the value of the 7 ) 38.02

expression?
A3 B.5

c7 D.9

Carl and Steven are creating patterns.

e Carl uses the rule “triple, then add 1"

& Steven uses the rule "multiply by 4, then subtract 2,
Each pattern starts at 1

Complete each table to show the next 3 terms in each pattern.
Carl's Patiem Steven's Pattem
Tem Number Term Number
1 1 1 1
2 H
3 3
4 4




Answer Key
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Divide: Find the area of the triangle below.
Remember, use the formula A=% x b x h.

+6

wing

13

218 or 119 5

Which expression is
equivalentto 14 + 35 2 1 2
A.2(7 +35)
C.2(7+17) 30 cu inits
D.7(2 +35)

An euuana:r;as sh:w{g An expression is shown. | Divide:
T
Which of the values can be 846382 +487 5.56

substituted for x to make the
aqEiion Eoe? What is the value of the 4 ) 38.02

expression?
B.5

€7 0.9 895.082

Carl and Steven are creating patterns.

® Carl uses the rule “triple, then add 17

® Steven uses the rule "multiply by 4, then subtract 2,
Each pattern starts at 1

Complete each table to show the next 3 terms in each pattern.

Steven's Paltem

Temn Number Term Number
1 1 1 1
2 4 2 2
3 13 3 6
1 40 4 22
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A shipping box has a Wirite the following number in word form:
width of 5 inches, a
length of 9 inches, and a
height of 6 inches. What
is the volume of the
shipping box?

2,612.652

An equafion is shown.
42+x=53

Which of the values can be

substituted for x to make the

equation frue?
ALl E.15
c12 D.16

What is the value of |Add. Show answer in | What is 17.78 x 10%?
the expression? simplest form.

1 5
5 . Ll 43 =
72+8+5x7-4 |33 T 4%

Percentages can be “simplified” just like fractions.
The fraction % can be simplified to % simply by dividing both the
numerator and denominator by a common factor of 25.

Likewise, the percentage 25%, or 25 out of 100, can be expressed
as 1out of 4 also (4).

Try to “simplify” the following percentages.

50% = outof 100 = 105 = =9 = 5

75%= outof 100 = 155 = == =3

P ==

Middle School
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A shipping box has a Write the following number in word form:
width of 5 inches, a

length of 9 inches, and a

height of  inches. What 2.612.652

is the volume of the
shipping box? _ two thousand six hundred twelve and six hundred fifty twa

alm thousandths

i i (2% 1000) + (6. 100} + (1 x 10)+ (2 x 1) + (6.x 1/1D) +
Which of the values can be (5% 1/100) + (2 x 1/1000)
substituted for + to make the
equation frue?

c12 D16
What is the value of |Add. Show answer in | What is 17.78 x 10°?
the expression? simplest form.

1 Bl
72+8+5x7-4 3§+4g— 17,780
40 7 29140

Percentages can be “simplified” just like fractions.
The fraction % can be simplified to % simply by dividing both the
numerator and denominator by a common factor of 25.

Likewise, the percentage 25%, or 25 out of 100, can be expressed
as loutof4also (4).

Try to “simplify” the following percentages.

50%= 50 outof100= Sk =0

T5%=_75  outofl00= ===y
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Multiply: Alice saves the same amount of maney
each week. The table shows the amount of
1,875 money Alice has saved for several weeks.
x 51 Complete the table to show the Alice’'s

weekly savings.

| Week Ar?g'jmt
Paula has 6 yards of
fabric for a schaol 1 3
project. She uses 84 4 12
inches to make the 7
project. How many feet 9 27
of fabric does she have
left?
Add. Show answer in | Divide: What is the value of
simplest form. the underlined digit?
1 2 i:9
85 +25= 7 476.029

Select all the expressions that show 17.095 written in expanded form.

O @Ax10)+(7x1)+©Ox)+Exgy)

O @7 x1)+@xg5) + 6 xdy) q_:_:-'-’!
[ (1x10)+(7x 1)+ (95 x7%5) -~

[ (@1x10)+(7x 1)+ (@ x7k) + (5 x 7y )
[ (17 x 1) + (95 x 1)




Answer Key

from Summer Slide to S|}

IMMERWINEG- Day 2I

of fabric does she have

1Bft? 4 feer

Multiply: Alice saves the same amount of money
each week. The table shows the amount of
1,875 money Alice has saved for several weeks.
x b1 Complete the table to show the Alice’s
95625 weekly savings.
Week Ar%glimt
Paula has 6 yards of
fabric for a school 1 3
project. She uses 84 4 12
inches to make the 7 21
project. How many feet 9 27

simplest form.

Add. Show answer in | Divide:

83 +22=

1116

=
-
[{e]

4163

What is the value of
the underlined digit?

476.029

G theyieanrithe

Select all the expressions that show 17.095 written in expanded form.

[ @x10)+(7x1)+(9x%5) +(5Xmy)

X (A7 x1)+(@x95)+ B X @)
O (Ax10)+ (7 x 1)+ (95 x735)
B (1x10)+(7x1)+(9x55)+ 5 x )
) (A7x 1)+ (95 x4k )

23/3?&5@7&, =

Middle School
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What is the greatest Find the area of the triangle helow.
e factorof19.and | pamember, use the formula A = % x b x h.
6 10

An expression is shown.
504.5+ 120967
What is the value of the

expression? 8
What is the least common | Sybtract: What is 176.928
multiple of 4 and 14? rounded to the

9% - 3% = nearest hundredth?

Using instructions given previously in this packet, try to “simplify” the
following percentages.

40% = out of 100 = 15 = =9 ==

= = = 10 —
90% = outof 100= = = mm = 1%
65% = outof 100 = 155 = g2 = —
10% = outof100= —=——M0=—

Middle School
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Day 22
What is the greatest Find the area of the triangle below.
Rt factorof19and | pemember, use the formula A= x b x h.
1
6 10
An expression is shown_
5045 +1,209 67 24 sqem
What is the value of the
expression? 8
1,714.17
What is the least common | Subtract: What is 176.928
multiple of 4 and 147 rounded to the
92 —3l= nearest hundrecth?
28 7 2
51114 176 93

Using instructions given previously in this packet, try to “simplify” the
following percentages.

40%=_40  outof 100= fid =20 =2
= = .- 80:10_ g
90%=_90 outof100= 06 = 10010 = 10

65%=_¢s outatl00= o= ei=Lb

% = =0 -_10 310 1
10%=_10 _outof100= 4= I0_jf=_L
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Day 23

Write the rule for this
pattern:

67,69, 71, 73, I6

What is 35.9 + 10°?

Find the area of each rectangle, then find the area of

the entire combined shape.

Rectangle A
Rectangle B:
Composite Figure:

Write an expression to
match the following
phrase

Triple the sum of
nineteen and ninety

Divide:

15 ) 1254

Benito has a board thatis 10
feetlong. He needs to cutthe
board into 4 equaHength
pieces. How long will each
piece of the board be? Express
your answer in feet and inches.

Probability is the likelihood that something will happen. For example, if you
flip a coin, there is an equal chance that the result will be heads or it will be

tails.

In other words, the probability of flipping heads is 1 out of 2 (1 side is

heads out of a total of 2 possible sides). Also, the probability of flipping tails
is 1 outof 2 (1 side is tails out of a total of 2 possible sides).

Based on this, see if you can answer the following questions.

Tommy has a jar of marbles that has 1 red marble, 1 green marble, and 1 blue
marble. Ifhe picks one marble out at random (without looking), what is the
probability that the marble will be green?

1 green marble out of total marbles; probability is 1 out of

What is the probability of picking the red marble?

out of




Answer Key
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Write the rule for this |Find the area of each rectangle, then find the area of
pattern: the entire combined shape.
3em
67, 69, 71,73, 75
iem A
add 2 Eon
What is 35.9 + 10°? |
T o
0.0359 Rectangle A:_ 9sqem
Rectangle B: __50sgem
Composite Figure: 59 sq cm
Write an expression to Divide: Benito has a board thatis 10
match the following . feetlong. He needs to cutthe
hrase: 836 board into 4 equaldength
P i pieces. How long will each
Triple the sum of 15 ) 125.4 piece of the board be? Express
nineteen and ninety your answer in feet and inches.
3x(19+90) 2ft6in

Probability is the likelihood that something will happen. For example, if you
fip a coin, thers is an equal chance that the result will be heads or it will be
tails. In other words, the probability of flipping heads is 1 cut of 2 (1 side is
heads out of a total of 2 possible sides). Also, the probability of flipping tails
is 1 out of 2 (1 side is tails out of a total of 2 possible sides)

Based on this, see if you can answer the following questions.

Tommy has a jar of marbles that has 1 red marble, 1 green marble, and 1 blue
marble. If he picks one marble out at random (without looking), what is the
probability that the marble will be green?

1 green marble outof _3  total marbles; probability is 1 out of _3

What is the probability of picking the red marble? | outof 3

Middle School
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A shipping box has a
width of 9 inches, a
length of 7 inches, and a
height of 3 inches. What
is the volume of the
shipping box?

What is the value of
the underlined digit?

8,405.682

Write the following number in word form and
expanded form:

396.075

Find the value:
121.65x 0.3

Divide: Multiply:

7,110
x 35

LI
i
@

Karen and Yana are creating patterns
s Karen uses the rule “multiply by 3, then subtract 1"
* Yana uses the rule “double, then add 3,

Each pattern starts at 1

Complete each table to show the next 3 terms in each pattern.

Karen's Pattem

Yana's Pattem

Term Number

Term Number

1 1

1 1

Middle School
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Day 24

A shipping box has a
width of 9 inches, a
length of 7 inches, and a
height of 3 inches. What
is the volume of the
shipping box?

188 cuin

396.075

Write the following number in word form and
expanded form:

three hundred ninety-six and seventy five thousandths

What is the value of
the underlined digit?

8,405.682

6 tenths

(3100} + (9 x 10) + (6 x 1) + (7 x 1/100) + (5 x 1/1000)

Find the value:
121.65x 0.3
36

Divide:

Wi
|

i8M5or1 115

@ n

Multiply:

7,110
x 35

248,850

Karen and Yana are creating patterns
e Karen uses the rule “multiply by 3, then subtract 1"
* Yana uses the rule “double, then add 3,

Each pattern starts at 1.

Complete each table to show the next 3 terms in each pattern.

Karen's Patiem Yana's Pattem
Term Number Term Number
3 1 1 : |
2 3 2 5
3 8 3 13
g 14 4 2

Middle School
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Add. Show answer in
simplest form.

7 5
1E+5€_

Paula has 10 yards of
fabric for a school
project. She uses 60
inches to make 2
costumes. How many
feet of fabric does she
have left?

Find the area of the triangle below.
Remember, use the formula A =% x b x h.

Write the rule for this
pattern:

48,24,12,6, 3

An expression is shown.

Complete the equivalent

4352 =32 fraction:
What is the value of the 9 _ 45
expression? ﬁ -

Anderson has a jar with 5 green marbles, 7 purple marbles, 6 red
marbles, and 4 white marbles.

What is the probability that he will pick a green marble?
green marbles out of total marbles, or out of

What is the probability that he will pick a purple marble?
purple marbles out of total marbles, or out of

What is the prabability that he will pick a white marble?
white marbles out of total marbles, or out of




Answer Key
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Add. Show answer in |Find the area of the triangle below.
simplest form. Remember, use the formula A =% x h x h.

Z B s
15+ b=

7 34/48 or 7 17/24
Paula has 10 yards of
fabric for a schoal
project. She uses 60
inches to make 2
costumes. How many
feet of fabric does she
have 1eft? 300 in or8yd 1 1t 9sqem

3cm

Write the rule for this [An expression is shown. Com_plsie the equivalent
pattern: 4352 =32 fraction:

48, 24,12, 6.3 What is the value of the 9 _ 45

expression? A

divide by 2 -

Anderson has a jar with 5 green marbles, 7 purple marbles, 6 red
marbles, and 4 white marbles.

What is the probability that he will pick a green marhle?
5 green marbles out of __22 total marbles, or Sout of 2

What is the probability that he will pick a purple marble?
7 purple marbles out of __ 22 total marbles, or Tout of 2
What is the probability that he will pick a white marble?
4 white marbles out of __22 total marbles, or but of 22
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Subtract:

Write an expression to
match the following
phrase

Triple the difference of
twelve and seven, then
divide by five.

What is the missing number in the following

equation?

+

[s<] (O8]

5

=1L
_140

An expression is shown.
7845-192.672

What is the value of the
expression?

What is 782 x 10°?

Divide:

24)1,262.4

Franklin is at the park and realizes he needs to call his
grandmother to remind her of

something. He will need to walk to his
home, to the library, or to the schoal to
use the phone. Which would be the

shortest walk?

A. Home
B. Library
C. School

o ANUBUDNDOD

y

.Li brary

*Park i é

School

“Home

X
12345678810

Middle School
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Subtract:

8 26/45

equation?

+

wlw

4
5

Write an expression to
match the following
phrase:

Triple the difference of

twelve and seven, then

divide by five.
Bx(12-7)/5

What is the missing number in the following

=1L
_140

An expression is shown.
7845 -192.672

Whatis the value of the

expression?

591828

What is 782 x 10°?

78,200

Divide:
526

24)1.262.4

Franklin is at the park and realizes he needs to call his
grandmother to remind her of

something. He will need to walk to his
home, to the library, or to the school to
use the phone. Which would be the

shortest walk?

A. Home

C. School

¥

o “NOBUNINROD

X
123465678910

P ==

Middle School
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Day 27

What is the place

value of the

underlined digit?
7.642.945

Multiply:

8,129
X 87

Find the area of each rectangle, then find the area of

the entire combined shape.

4o B

Ban

Rectangle A:
Rectangle B:
Composite Figure:

An expression is shown.

2925 =15

What is the value of the
expression?

What is 456.8 X 745 ?

Add. Show answer in
simplest form.

4 )
23'*45—

Find the volume of each figure below.

P ==

Middle School
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What is the place

value of the

underlined digit?
7,642.945

hundredths

Multiply:

8,129
x 87

707,223

Find the area of each rectangle, then find the area of
the entire combined shape.

4 B

8an

Rectangle A: _12 sgcm

Sm

Rectangle B: 20sqecm

Composite Figure:

32sgcem

An expression is shown.

2925+ 15

What is the value of the
expression?

195

What is 456.8 X 135 ?

4.568

Add. Show answer in
simplest form.

4 1 -
2§+4§—

Find the volume of each figure below.

5 cu units

28 cu units

[ 1

44 cu units.
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Find the value:
1,285 x 0.7

A shipping box has a
width of 3 inches, a
length of 6 inches, and a
height of 5 inches. What
is the volume of the
shipping box?

expanded form:

Write the following number in word form and

7,915.381

Divide: Write the rule for this | What is the value of
pattern: the expression?
BT
15+ 4,11, 18, 25,32

12 +(20-3x2) = 2

Select all the expressions that show 265.17 written in expanded form.

C] (2% 100) + (6 x 10) + (5% 1) + (17 x 747 )

T (@26 10)+ (5% 1) + (17 x5 )

[ (26 x 10) + (5% 1) + (17 x 75 )

7] (2x100) + (6% 10) + (5x 1) + (L x 7 ) + (7 x i)

Ol (2x100) + (6 x 10) + (51 x5 ) + (7 x gg)

Middle School
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Find the value: Write the following number in word form and
1.285 x 0.7 expanded form:
7.915.381
899.5

Thousandins

A shipping box has a
width of 3inches, a
length of 6 inches, and a
height of 5 inches. What

seven thousand nine hundred fifteen and three hundred eighty-or)

(7 x 1000) + (9 x 100) + (1 x 10) + (5 x 1) + (3 x 1/10) + (8 x 1/10

s

1l

{1 x 177000
is the volume of the
shipping box? gq .. in
Divide: Write the rule for this |What is the value of
pattern: the expression?
12 R i
5710 411182532 | 1o 4 po=agn)s2
21035 0r 227 A 19

Select all the expressions that show 265.17 written in expanded form.
& (2% 100) + (6% 10) + (5 x 1) + (17 X 1ig
X (26x10)+(5x 1)+ (17 x5)
[ (26 x10) + (5% 1) + (17 X 7k5)
[J (2x100) +(6x 10) + (5 x 1) + (1 x 75 ) + (7 x 135 )

¥ (2x100)+(6x 10) + (51 x ) + (7 X 1ig)

Middle School
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Mu][ip|y: Use what you've leamned about area of rectangles and
triangles to break this shape into parts, find the area of
each part, and then find the total area of the pentagon.

912
x 47 Triangle A: -
Tri e 5in NS in
r!ang e Bl ads B
A - m Triangle C: T
n expression Is shown. Trlang‘e D i c s
EhobelY Rectangle: 5in
What is the value of the
expression? T
0 Total Area: 4in
What is 9.08 x &2 [Kitty needs 17 yards of | Subtract:
fabric for a school
project. How many 5£ - 41 =
inches of fabric does 3 3
she need?

The line plot below shows how many hours each student on the soccer team
spent at practice this week.

X
X

x X ¥ X
X

(Hours Spent at Practice)

How many players practiced less than half an hour this week?

How many players practiced 1% hour?




Answer Key . )
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MLI|[ip|yZ Use what you've learned about area of rectangles and
triangles to break this shape into parts, find the area of
each part, and then find the total area of the pentagon

912
x 47 Triangle A: 6
42,864 Triangle B: _&
Triangle C: _25
An expression is shown. Tnangle D: 25

2898.= 1. Rectangle: 20

What is the value of the
expression?

Total Area: _37sqin
207

What is 9.08 x 45 ? | Kitty needs 17 yards of | Subtract:
fabric for a school

project. How many 54— 42 =
0.908 inches of fabric does 3 3
she need?
612in 128

The line plot below shows how many hours each student on the soccerteam
spent at practice this week

=
® X x
=

0 1 2
(Hours Spent at Practice)

How many players practiced less than half an hour this week? 2

How many players practiced 1% howr? 2




from Summer Stide to G| M E‘R WING- Day 30
Subtract: Find the area of each rectangle, then find the area of
the entire combined shape.
S T et 201
B5—13=
12ft
n
Write the rule for this Bit Bt
pattern:
aaf
2,6,18, 54,162 |Rectangle A:
Rectangle B:
Composite Figure:
Add. Show answer in |Multiply: Find the value:
simplest form. - 68.1 % 0.24
3 i d
2 4 Qs =
6 4 9 g x 28

Find the volume of the composite figure below.

27 ft

23/3?&5@7&, =

Middle School



Answer Key

from Summer Slide to ng E’R WING- Day 30
Subtract: Find the area of each rectangle, then find the area of
the entire combined shape.
3 w1 201
8 5 1 27
7110 124
it
Write the rule for this 8t Bt
attern:
P a4t
2, 6,18, 54, 162 |Rectangle A-_ 240saft
Rectangle B: _ 27Zsqft
multiply by 3 Composite Figure: _512sgfi
Add. Show answer in |Multiply: Find the value:
simplest form. 5208 68.1 % 0.24
3 P — i
GZ + 9§ - x__ 28 16.344
89,768
16320

Find the volume of the composite figure below.

2592 cuft

23/3?&5@7&, =

Middle School

27 ft




